NYS COMMON CORE MATHEMATICS CURRICULUM Module Overview

Grade 4 ® Module 1
Place Value, Rounding, and Algorithms
for Addition and Subtraction

OVERVIEW

In this 25-day Grade 4 module, students extend their work with whole numbers. They begin with large
numbers using familiar units (hundreds and thousands) and develop their understanding of millions by
building knowledge of the pattern of times ten in the base ten system on the place value chart (4.NBT.1).
They recognize that each sequence of three digits is read as hundreds,

tens, and ones followed by the naming of the corresponding base thovsands [hmdreds | +ens | ones

thousand unit (thousand, million, billion)."

The place value chart is fundamental to Topic A. Building upon their
previous knowledge of bundling, students learn that 10 hundreds can
be composed into 1 thousand and, therefore, 30 hundreds can be
composed into 3 thousands because a digit’s value is 10 times what it
would be one place to its right (4.NBT.1). Students learn to recognize
that in a number such as 7,777 each 7 has a value that is 10 times the
value of its neighbor to the immediate right. One thousand can be 3 jhovsands = 30 hondreds
decomposed into 10 hundreds, therefore 7 thousands can be

decomposed into 70 hundreds.

Similarly, multiplying by 10 shifts digits one place to the left, and dividing by 10 shifts digits one place to the
right.

3,000=10x300 3,000+ 10 =300

In Topic B, students use place value as a basis for comparing whole numbers. Although this is not a new
concept, it becomes more complex as the numbers become larger. For example, it becomes clear that 34,156
is 3 thousands greater than 31,156.

34,156 > 31,156

Comparison leads directly into rounding, where their skill with isolating units is applied and extended.
Rounding to the nearest ten and hundred was mastered with three-digit numbers in Grade 3. Now, Grade 4
students moving into Topic C learn to round to any place value (4.NBT.3), initially using the vertical number
line, though ultimately moving away from the visual model altogether. Topic C also includes word problems
where students apply rounding to real life situations.

! Grade 4 expectations in the NBT standards domain are limited to whole numbers less than or equal to 1,000,000.
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NYS COMMON CORE MATHEMATICS CURRICULUM MOCIUle Over\liew

In Grade 4, students become fluent with the standard algorithms for addition and subtraction. In Topics D
and E, students focus on single like-unit calculations (ones with ones, thousands with thousands, etc.), at
times requiring the composition of greater units when adding (10 hundreds are composed into 1 thousand)
and decomposition into smaller units when subtracting (1 thousand is decomposed into 10 hundreds)
(4.NBT.4). Throughout these topics, students apply their algorithmic knowledge to solve word problems.
Students also use a variable to represent the unknown quantity.

The module culminates with multi-step word problems in Topic F (4.0A.3). Tape diagrams are used
throughout the topic to model additive compare problems like the one exemplified below. These diagrams
facilitate deeper comprehension and serve as a way to support the reasonableness of an answer.

A goat produces 5,212 gallons of milk a year.
A cow produces 17,279 gallons of milk a year.
How much more milk does a goat need to produce to make the
same amount of milk as a cow?

~7
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1, 219
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17,279-5,212 =
A goat needs to produce more gallons of milk a year.

The Mid-Module Assessment follows Topic C. The End-of-Module Assessment follows Topic F.
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NYS COMMON CORE MATHEMATICS CURRICULUM

Familiar Terms and Symbols®

=, <, > (equal to, less than, greater than)

Addend (e.g., in 4 + 5, the numbers 4 and 5 are the
addends)

Algorithm (a step-by-step procedure to solve a

Module Overview

NOTES ON
EXPRESSION,
EQUATION, AND
NUMBER SENTENCE:

particular type of problem) Please note the descriptions for the

= Bundling, making, renaming, changing, exchanging, following terms, which are frequently

regrouping, trading (e.g., exchanging 10 ones for 1 ten) misused.

Compose (e.g., to make 1 larger unit from 10 smaller
units)

Decompose (e.g., to break 1 larger unit into 10 smaller
units)

Difference (answer to a subtraction problem)

Digit (any of the numbers 0 to 9; e.g., What is the value
of the digit in the tens place?)

Endpoint (used with rounding on the number line; the
numbers that mark the beginning and end of a given
interval)

Equation (e.g., 2,389+ 80,601 =____ )

Estimate (an approximation of a quantity or number)
Expanded form (e.g., 100 + 30 + 5 = 135)

Expression (e.g., 2 thousands x 10)

Halfway (with reference to a number line, the midpoint
between two numbers, e.g., 5 is halfway between 0
and 10)

Number line (a line marked with numbers at evenly
spaced intervals)

Number sentence (e.g.,4+3=7)

= Expression: A number, or any
combination of sums,
differences, products or divisions
of numbers that evaluates to a
number (e.g.,3+4,8%3,15+3
as distinct from an equation or
number sentence).

Equation: A statement that two
expressions are equal (e.g., 3 x
_ =12,5xb=20,3+2=5).

= Number sentence (also addition,
subtraction, multiplication or
division sentence): An equation
or inequality for which both
expressions are numerical and
can be evaluated to a single
number (e.g.,4+3=6+1,2=2,
21>7x2,5+5=1). Number
sentences are either true or false
eg.,d+4<6x2and21+7=4)
and contain no unknowns.

Place value (the numerical value that a digit has by virtue of its position in a number)

Rounding (approximating the value of a given number)
Standard form (a number written in the format 135)
Sum (answer to an addition problem)

Tape diagram (bar diagram)

Unbundling, breaking, renaming, changing, regrouping, trading (e.g., exchanging 1 ten for 10 ones)

Word form (e.g., one hundred thirty-five)

5 .
These are terms and symbols students have used or seen previously.
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4 Grade Module 1 Lesson 1
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L Label the place valua charts, Fill in ke Blanks bo make the 1ollowing equations trae. Drow diaks in tha
place value chart to show how you got your answer, wsing arrows o show any bundling,
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1. Complete the follvwing statemants using your knowledge of place vales:
&, 10 times as many as 1 ten is W e

b, L tires & Ay a5 = tuui:.i]trn-dl'_w-j__mredi-

e e "'liw-.Ei 5 T'i‘lll'-‘l.ﬂ as 9 hundreds i 9 thousands,
d. 2 thousands is the same as 20 bundreds.
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3. Matthew has 30 stamips in his collection. Matthew's father has 10 times a5 many stamps as Matthew.
Haw many stamps does Matthew's father have? Use numbers and words to explain bow you got your

AFSWET. ﬂL _lil-.'l;"ﬁ. 'I:Il'::-'l"l'l'Eﬁ 0% thany 0= ?ﬂ (:-".I -IIPEPI:?]
S 20 Yens or B Wledreds.
0% Bdens= 2O Mng= 3 I"l\ur'gj.ﬂﬂ]lf]

Tasdaess (:cﬁr'h_ef Vias ﬁﬂ?%ﬂlﬁ-ﬂ

% b op W WS

30 = 3 dens

4. Jane saved $800, Her as 10 timaes a5 muth maney. How much money does Jane's sister have?

Use numbers and words to euplaim how wou gol your snoser,
Fro fens TS e tipesas Masgas BOO0 (% 'T*.Ui‘-ﬁjf'i'dg]
P s g ammnd :-;::: -l._; 'Iic_': l'ruh.rhrls__qk, :,r"""-!"'a -'l;l,.-.::i'.:}l'_"l_[‘l.eb:::'
_':E:'.‘. 10w hundeds = TO hyedreds =9 Frousandd
ap b Joees sighee hes 3E0CO.

5. Fill in the blanks to make the statemants frss,

a. zrh-emmm.u'u_ﬁ__u_.
b, 10 tires as much asd 0

=
€. 500 s L0 times as much a5 i)

d BO0kE :\‘f‘_ﬁl‘.—iﬂzuﬁ Mo B0
-

6. Sarah s 9 years old. Sarak’s grandfather 5 90 years old. Sarah’s grandfather & how many times as old as
Sarah? » .
ra Ter bines a3 wooy 05 9 ores 15 9 beps
o xfangs = 9 lens =90

Sarahv's grandfather s 10 times as ol as Sarah.
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4 Grade Module 1 Lesson 2
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1. Az yaudid during the lessan, labe| and regresent the product or guotient oy drawing g2k an the place

value chart,

a. 10= 2 thowsands = ;Q thowsands =

sundbred,
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2. Sole for each expression by weriting the solution in unit form and in standard Form,

e Ahens

0 _r‘-.'%f'ff_l%ﬁ.__.'j
D hundreds
G Mousands eele
HO Meousards | Yo poo

b, Solve for each expression by wiiting the solution in unit Form and in standard form

4 handfeds = o
2 Yeousaede, *‘:- . Mﬁﬁ

(3 ters 3 ones) x 10

{2 hundreds 3 tens) = 10

7 thousands & hundreds] =
1o ! Voousoende € Yaousadds 77,000

& thousands 4 tens) = 10

b rundeets Y oS X ah

{4 ten thowusands 3 tens) + o .
10 Hthousands TS ones oo

4, Explain how vou solved 10 = 4 thowusands. Use o place vabue chart to support your cmplanatin.
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& r-:rlla in howy wou walvad (4 ten thousands 3 tens] = 10

Uge a place value chart to support your
exjlanation,

5 | onE

Livee, é-'-u:d]!-h%{:l T e, Bt ,'_'.:q'-.l'l‘
ks ho ¥ _'{!:E!.:'.-'-"'l' ene COh LM
L oo eousorbs s 10 = Y Haousoands
BieeE > W0 = Dores

6. Jacob sawed 2 thousand dollar bills, 4 hundned doller bills, and & ten dollar bills to buy a car. The car costs
:I.I'.Iﬁ'nﬁiﬂl'r!.l:hll-hhu:ﬂ'ld Hore' much dosess the car oost 2

* 0,000 FYOO F 0 = 21,460
VI MED A (O = $ 24,600
e o (ests AW OO,

§.  Lastyear the apale orchard expenenced a draught and didn't praduce many apples. But this vear, he

apple crchard produced 45 toutand Granny Smith apphec and 9 hundred Red Deliclout agples, which &
10 times as marny apples as last year. How many apples did the orchard produce last year?

45,000 F 800 = 5 500
Y5900 5 \0 = LEJE‘?-':-

IL&T:"' UEGLE e OCCnard preduced 4 590 ﬂ.g@.&ﬂ.
hJ '

5. Planet Auba hes a populstion of 1 million allens. Manet Zamba has 1 endred thowsand aliens

5. How many more aliens doss Planet Ruba have than Planet Zamba?
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4 Grade Module 1 Lesson 3

Name .:.Thclt- Date __

1. Rewrite the following rumbers induding comimas where appropriate:
e
s azaa__ |, 275M b 1234517 35 c 123056 123,456

d 12mase7 .03 SET e 1amasezmema V1, D45, 67T, 70|

i, Solve epch expression Record vour answer in standsrd torm,

5 ters + 5 tens _ [lale
3hundreds + 7hundreds | 1,000

| 400 thousands + 600 thausands 1,;:;_“_:{_?{:&:“13
£ thowsands + 4 thowsands | l‘lJGnﬂl".'}

3. Ropresent sach addend with place value| disics in the place value chart, Show the compesiten of larger
units from 10 smaller unigs. Write the sem |n standard foom.

5 4 thousands + 11 hurndreds = E-:I'LDG'
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4, WUse digits or disks on the place value chart to represent the follewing egquations. Write the product in
standard form.

g 10 % 3 thoussnds = J_j'j._l':ﬁ:!'D

P ands thousands

| - w § - #
NI Fil
LI -

¢ (32 thousands 1 hundred 4 ones) » 10 = El'ujﬂ‘r:r' )

How mmavy thousands are in the answser? =0
hunidred fen |
- T e l
l : t
| 5
b {3 ten thousanids 3 thousands) = 10 = Elﬁjﬂm
Herw miamy thousands ane in the arswer? Erle
| —_— hundred ten | P | a— E tens | o

|

How maany thousands ane N your answer 3:'1||

"'; L I
wia \
5. Lee and Gary visited South Korea, They exchanged their doBiars for South Korean ﬂi:
Bills. Lee recehmd 15 ten thousand Seuth Korean bills, Gary receheed 150 thousand w.l-:u—nﬂ s
bills. U mrnhmnnu lace valug chart to compare Lee and Gary's
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4 Grade Module 1 Lesson 4
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Mame Lo Date

13. On the place valie chart balow, kabel the units and represent the number 50,523,

! " II' )
| renlhion Im‘ﬁil%ﬁm&g Yroumeds [lnundiede| ¥ | ones |
q | © 5 ‘ 2 ‘ 3 l

b. Write thie numiber in word fonm.

f“u'mtﬂ %M&an&} Fuore Fusdiredy 5ru;rl;--ﬁ*r\JI-— Feiee

Lt Wirite the number in sxpanded fonm.
0,000 & BOO ¥ .ok a5

2a. On the place value charr below, labiel the unirs ard represent the numbsar 905,203
moeared R : \ _
et liond | Hasusaae | Yrousonds | trouands | hurdreds | 4ens | ores |

[ le ez de e
b.  Write the number in word farm.

(e ndeed Se Yoousand eru:r:: redred Heeee

C Wirite the number in expanded form.
900,000 + 5,000 % 200+

CIOMAMOESY | Lomona: Hugd gl w0y gt amisers Leing Base 2en sumerati, n?
Fusbed reaTieE, Sl #a paesdiead loem E 1#-5
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3. Comphete the lollowing chart:

'I:IL{-'ED rwo thousand, four hundred elghty | 3~y 4400 FEO |

20000 + 400 + BO + 2

1@", yer Jrl..n:n'iul*-.-"r,{ i'lr'l-n.flla unmﬁﬁj
Senre Yuunded Ty

k=

E‘.-_{j 10G stety-Four thousand, one hundred six ! (0,000 & 4 000+ 0

| oot S Sepusag ©00,000 +4 000 +

504,016 ! R, | o+k
i
rne hundied Fxhy | 960,000 & L6060
560,060 Mo pasand '.’ﬂtlrj] ol e

4. DBlack Bhinos are endangersd, with onby 4,400 left in the world. Timothy read that number a3 “four
thouwsand, fawr hundred,” Hiz father read the nember 25 “34 hundred.” Who resd the aember

ﬂl:ll'r'tl:ﬁ'f? LIES Fb.'lLl'lEl-,. s by G ved s Do dsplain yaur answer.

Botn, Timofhy and s falther cead the nusmices Cottecly.
HJQED s “leuy "l:'i“-ai“'».LE:ﬂnr":'.'L Four wusdted . T Can alzo
be cead as © forry-fous hurdred " Since Hhe Y Yhousands
Can ‘08 -re_ﬂfm?_gﬂ os 4O ".ﬂmﬂ&.mﬁz - 4o hundeds plus

e y
U fuandreds 15 vocky - vour Nangreds.
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4 Grade Module 1 Lesson 5
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1. Labed the units in the place value chart, Draw place vahee dishs to represent each number in the place
value chart. Use <, > or = to compare the two numbers, Write the comect symbel in the cinde,

" 600,015 @ 60,015

apadrad hae
iy Vo | eowsands | Yeoumaws [Mrousamss |handreds | tens hes
) &
___!. ————————— - FEEErEEEE e i - e o R
r TEITEY ™ T R

b 409,06k @ A4, 00

rd.-.r..n.!u.l:f_&, T
ol o | Yousands | Hmﬁnmi:- Vrous s Pradveds | Yens DeEs
I D W P S N | S R .
I

2. Cormpare the bwd numbers by wing the symbals < = and =, Write the correct symibod n the ccle,

& 34,001 @ 94,981

b, SO0000 + S0, 0000 & 0,000 + 10 Tire huindred eight tha r 3] \jolo
L] usand, ming hﬂﬂdl‘l’.‘d'ﬁ'ﬂ!‘ 1
) i

sloElalel) !

¢, 9hundred thousands 8 thousands 9 hundreds 3 tens @ sosea0 |2 olald [0 D.ll

qolzp il
9 hundreds 5 ten thoussnds 9 anes @ 6 ten thousands 5 humdreds Sones | L% 1G] 010
AEEER
CCI'MMEIH | Lomon & Coampere reambhes Banad o meassing s ol e i, “y‘
K L o = i e r =3 i 1.8.8
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3. Use the information in the chart below to list the height in feet of each mountain from least to greatest
Then name the mountain that has the lowest elevation in feet.

| Name of Mountain | Elevation in Feet (1)
o E— T 4,240 #.

4960 it l-*, 340 (3..[.

Slige Mountain ] 4,240 f. q‘quo ‘R_

Slide Movndain nas e lowest elevation 95 Lagad

n feer at 4240 feet.

4. Arrange these numbers from least to greatest: 8002 2080 320 2,008 8200
20 2,003 7,090 2,00L ¥,200

., Arrange these numbers from greatest to least: 728,000 708,200 720800 87300
729,000 720300 08,200 $7,3200

Ore astronomical unit, or 1 MU, ks the approximate dstance from Earth to the sun. The following are the
approxmate distances from Earth to nearby stars gaen in AlJs:

Alpha Contaun is 275,725 AUs from Earth
Proxirns Centauri ic 268, 269 AUS from Earth
Epsilon Eridan is 665 282 AUs from Earth
Bamard's Star s 377,098 AUs from [arthy
Sirgs 15 542,774 AUs from Earth.

List the names of the stars and their distances in AUs in order from closest to farthest from Earth.

Reotiomo. (enYaurs -26%, 267 Fls
Bigne. Centaurs = 7275725 Aus
Cacnacd's Shav- 277 41 Aus

Siciug - 542,774 Als
Epstlon Lcani - (65, 23 AUs

COMMON | Lasson 5 Cormpure natebers besed on meare g of The 0 gits,

ndng >, <, of » to recoed the compariwoe.
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4 Grade Module 1 Lesson 6
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1. lLabel the place valwe chart. Use place value disks to find the sum or differerce. 'Write the answer in
standard form an the line,

&, 10000 more than siy hundred five thousard, fowr hisndred  severty-taao is fl 51 "1 ?:'_.

. L e
i Wioms | Ywousends DieS
LY '3 -
!
b. 100 thousand less than S00,000 + BO,000 = 1000+ 30 + 6 is :.".'EELG}E
. PLRGEA - 5“3«:11 . i )
Crithions | Phousants conits [ Yhousands Joundreds | deas nres |
---F_..__ :::l-l . - - :p.--
| - |
thamn 130,070.
ardireds | dens (res

2. Lucy plays an online math game. $he scored 100,000 mare points on Level 2 than on Leved 3, W she
seored 345 067 polnts on Lveal 2, what was her soore on Level 37 Use pictusas, wadds, o aumbens to

paplain vour lhlnl:_i'laq:]q 'EE.':-'

L'mfi:‘ Lewer 3 Scove wos 249,867,
PN S

-1 -]
> )(ﬁ—r_'
B
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3, Complete the foflowing equations:

3. 10,000 + 40,060 = 1, 0E0)

b 21,185 - 10,000 = 'L'l.;'l'zl'j

e 999,000 + 1m=_|_l,§_mﬂ§_‘;’ d. 179,731 - 100,000 = ﬂlli"'l'
e 122,000 =22.000+ 00,000 f. 38018 = 39,018 - 'li'f"m
4. Fill inn the &mpty hooes to complete the patterns.
a.t 150,010 [*s¥ella e g0 o0 19,010 o oo
| —
Eipl:'-l 1im pictures, numbers, or words how '|-l.u found your amywer Tis t.tﬁgﬁf{ﬁﬂﬁﬂ_
E st '%ﬁ“mh%‘&jl ftn: O b—\'-; 000 ach Yime .
| " o
898, 756 TR, 756 I_f‘q_i% '}En;r fﬂcﬁ I-I| 5,& IH.TEEJ
Eaplain in pictures, numbers, o '-'.*.IJ-.- how you found your arsmer, e oS desvease
3 e "E“E”:fﬁ e ——ﬁ—\—m t‘mL oy looc0 each Vi,
-r'l'l'; ." |J e - Lk ]
c T44.3659 743369 Fua :ér:[ 741,365 ';L{t}l'%q ?:H,EEH
It#.:I;éI:I!l:'!iii-pl--l :LIII pictures, numbsers, or words how you found your amsvaer TThiL TyATRETS '&E‘-wuf?—
p i ] w Fiong .
__uasﬂ :ﬂm@l%ﬂ_ﬁﬁ . \, 000 eac e
R ey t -F:: lb\j b
-] Tl .
o VITANGD | MM log q1p | 9% 90 BE.910 78910 J
'I,.: E;Elc'-l 1in pictures; numsbery, or words how '|-_-.1|. r- I youe Arveer b I[rl'-.E nu—m'mﬁ -I:I_'l.li Ry
T Hh . b i
‘rﬁ-;m_ I r-.dn:.‘-'#'ruuﬁm&.&l burawetss | dens  IO0ES 0 0oo eack Yime.
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4 Grade Module 1 Lesson 7

Kame

pa———

Jadd

CORE

1. Rowund to the nearest thousand. Use the number line to model your thinking.

& 6700= 1ﬁﬂ¢

. 16401 =

b 9340 o OO0
* _'__,_——-
(7,000 D \0, 000
LG TulF
- &, 500 9,500
Toa
T G.oo0 4,000 -
W, OO0 d. 3ns4s=_ 0 000
Y — i,
17,000 == 40,000
W 200 4 :*'f;f
Ty izl
i ., 1.
16,000 T 31000

f, B40.007 = 1'*':'., mﬂ

oo, 000 -f‘-'ﬁu.'. feod)
S 200 T 4o, 500

R ST B

29%,000 ¥ EH0.000

COMMOMN | Lessen

[tz

B 5§ S e, e 0 Ak e e, e e

Ry vl o ight naamisers: be the thnesasds hxe wing Uie
wEATRCA] BLmsas Fred
1IR3

engage"™’
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NYS COMMDN TORE MATHEMATICS CLARICLL LMW

Lesson 7 Problem Set

1. A kot warted to know sbout how mary kilometers he fiew on his last 3 fights. From N¥C to Lenden, ne

flow 5,572 kn. Then, freem London 10 B¢lling, he Bew 8,147 km, Finally, he flaw 10,995 &m from Be)ng
back to NYC. Round each number to the nearast thoussad, and 1hen find tha sum of the rounded
numbess o #stimate aoodt bow many kilameters the piot flew

5,572 R (,cCC

6,000
4,147 « 8,000 §,000
+ \l,000

———

151 ooQ

The ?tlc& Flew about 25,000 miles.

s, 196 = I, 000

3 Mes. Smith's chass & earming about healthy eating habigs, The students learned that the average child

should consume sbaut 12,000 cakories coch wees Kerry tantumeod 12,748 calories st week Tyler
ronsumed 11.702 calores last week. Round to the nearest thausand to find who consumad dosar jo the

recoenmenced number of calories. Use pictures, aumiters, orwords to explain

o lec consumed Closer 4o e

reommended Tumber of caloties.

When tounads
Yhousand,
12,000 (alen
1 1.e0C tu,ooo Closec 4o 12,000 Calecies.
Kecew Talec

4. For the 20112014 school year, the tost of tution at Corned University was $31 000 whes rounded to the
nuarest thousend. What s the grestest poniie »

amaunt the wition could be?

4N 000 “The areatesr posTite amcunt the tuitien

A0 CourdJbe 15 us49q, “The least possivie
amount 15 *42, %00,

muunt the tedtlon sould be? What i the ast porsible

U 0c0

%‘w . \n“TDO

492 pOC
A

COMMON  wee?

CORt engage"™’
TN e
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4 Grade Module 1 Lesson 8

Name: .1 e Date-

Directions. Complete each statement by rounding the number to the given place value. Use the
number ine 10 show your work

1a. 532,000 rounded 10 the naarest ten Z2a. 240,000 rounded to the nearest

<, n ‘r C y

) sla

hundred thousand is 200D, C

NS00 068
—ﬁ[" N ———-

L

y

b. 42,708 rounded to the nearect ten b. 449,019 rounded to the nearest
thousand is _ L hundred thousand is _

A0, 0D

e -

5L 708
—— ——

- - - -
—— iy DO
-~ -

w

c. 406,823 rounded tothe nearest ten

£, 964,103 rounded to the nearest
thowsand s

hundred thousand is

_4‘_3; 10,2 0?>

»

+ ’*}‘C’[ﬁ,g&?

= %00 D
v* ,000

v'u;.u_;(-""




3. 975,462 songswere downloaded In one day. Round this numberto the nearesthundrad thousandto
estimate how many songs were downloadedinone day. Use a numberine to show your work,

L oo oo
>
+975 UG2- Q75,‘1 «L = | o000
Rbeur \.ccocc0 S Lere.
dowonloaded in one dad.
~+900 CEO
¥

4 This number was rounded 1o The nearest 1en thousand. Listthe possible digits that could gointhe
thousands place to make this statement correct. Use anumber line to show your work

\
-+ 190 D00
1,-“‘.130.000 (‘1 | : 2 L'L’ ( (&l"‘ ‘ | l"f‘(e

AN SrTeens Levvles
; \'yly.bw o
- NI,
/o V34, LG
- -
53 L:t‘ }

\ **\ 4 y
o, A0

v

S tanmmwmwmuummummmwu

712,350 - 342,802

a  Round to the nearest ten thousands: ;;C rirpusand

" 340 +koutand

37 0 4w sand
b Round 1o the nearest hundred thousands
700 +heoucond
~306 thowand
Y00 4bhsviand
W coe engage™



4 Grade Module 1 Lesson 9

w—e __sJacs

1 Round 1o the neatest thousand

s s30s___D.000 b 4389~ 9, 000

c aapm.__ 2 000 4 so1soes SOX, 000
e Explain how you found your answer for Part (1)
Yor leecd T \ooked atr ht Thousands @‘f'\' uI Nt
Jas a 1. Then 1 \oked 4o Hae hundreds Qlare and Saw Haat
A Lous G hundred 26T rew Yo found He Yhousands place
2 Round to the nearest ten thousand. A0 Yo 2 Yousand.

s 26000~ 0 000 b.34920=__20 OO0

. m90m=__ /40 000 406286« 710 000

¢. Explain why two problems have the same anvwer. Write another number thet has the same saswer
when rounded to the nearest ten thousand.

The problemsS haue ¥t Safme anSuwer LeCause 26, 00O Can
be counded VO T 30,000 and IY N0 (an DE tounded dow
o 70 .000. Hinotec Numbér Could be 29949

31 Round to the ncarest hundred thousand.

e 800000~ TO0 000 b. ssosnn= 400 000

~

¢ 761,008 = 100, 000 i mess- \.OC '®,

€ Explain why two problees have the same answer. Write snother number that has the same answes
when roended to the nearest hundred thousand.

Two preblems ot de Same Decause T40,000 \s (ou aded
dowen Yo 900,000 and 6\ 00 15 Toundéd up fo 900,000,
Ondket numper owld e o, |1

C()‘\‘A\‘()N mon ¥ 3 OO g O3 Ol OET “uSTACTS TS T

engage™




4. Solve the following problems using pictures, numbers, or words.

& The 2012 Super Bowl had an attendance of just 68,658 people. i the headline in the newspaper the
next day read “About 70,000 Peopie Attend Super Bowl.” how did the newspaper round 1o estimate
NWWJM!-&M?

e nhl.d._-lQG"' Cohunded -)t e \":E-O,((»":;'\'
TN ~\N_Ll;(1nd Yo STt Yhe dotal numoer ©

——

CEoOE ' Q&'\{'(\(\Of\cf ”> o~ O

X ol =R

'.S .\).i

b

b, The 2011 Super Bowl had an attendance of 103,219 paople. Ifthe headine in the newspaper the
next day read "About 200,000 Peogle Attend Supsr Bowl," is the newspaper”s estimate reascoable?

Use tomdng te explam your answer,
The tewspagecs estimate \s not Teasona b

ot tousd Yo 200,00

C

ecause 03, A9 Qoes
\03 219 CC’.-UF-;\'; ‘o 100 QOO -V“‘f" founding ‘D
e neacest nun dred e

2 200,000

5o 00
el )
Y C(_..OL'T_‘_;
mbmmm.mmmmmpbnummﬂhion
than in 20127 Round wach sumber 10 the largest place value befars giving the sstimated answer
L GRY oo y OO0 al
L 1( WV S 7O‘k o 1& “NZ)\A(A“C\
-j 10 Yhoutand

———

-~ 30 Yhousend
ot N

e
~—
O

~ OO CCOo

W7 f;’\-f :_f‘_(:t‘/\t' Q ‘,.A N O v ‘-..\.l\'i { ‘-:L.‘ ’

'l COMMON | ssns

COR[ G -"‘ .A-'.' :-n - I v ol NSt St ten - engage"y ‘.c,
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4 Grade Module 1 Lesson 10

\
Hame Tﬁ-ﬂﬂ-, Date
1. Round 533 987 I:uﬂ'rerlurﬂt_!

2 thousand: 44 ooD

b,  ten thousand: ____"mli-'l;‘-’lc‘._ GDD

¢, hundred thowsard: L_'JQG-.'CE'G

7. Complete each statement by roending the mumber to the given place value,

a. 2,841 rounded to the mearest handred is A m

b 32,861 rounded to the nearest hundredis __ = 2., 100

€. 132,891 rounded to the nearest hundred is 1 —l, 00

d 5299 rounded to the nearest thousand is Aels®.

g 36,599 rounded to the nearest thousand is E—.-". GG'::"

[, 100,699 rounded to the nearest thowsand s | 21, OO

E 40,984 rounded to the nearest ten thousand is ), 00

h., 54,984 rounded to the pearest ten thousand is __ 0 000 .

L 997,010 rownded to the neanest ten thousand is 1-_.'3":;":].'::?:'::}

| 350,034 rounded to the nearest hundred thousand s __ 100, OOC)

|'_' .
k, 436 709 rounded to the nearest hundred thousand ":G.':ﬂc'

L LES2.442 rounded to the nearest hundred thausand is__ |, 100, 000

COARTM : Lamson 1k Use plape vahee yuadansanding 10 roernd muithd gt o ks 2 iy n
| engage™ s

F | i =l bl g readwosid A ppikcitions
[l 15T

¥ L Mo Srrn w0 oI S Sy g




3. Empire Elementary School mesds to punchase water botthes fof Geld day. There are 2,147 students,
Principal Vadar reunded to the pearest hundred to estimate how many water botthes 1o order. Will there
be enough water battles for everyone? Explain.

2,14L & 9 100
“Tere wosii ol L € " Loades Lotres nicaus 2 14
Counded Yo the nNeacesy hundeed WS Q) 0o, TE
Peircgad Vodae omders 2,100, Hrere Wil 'oe YL Shudends
Lot weder,
4. Opening day at the New York State Fair in 2012 had an attendance of 46,753, Decide which place value 1o

i 46,753 to # you were wiiting & newspaper article. Bound the number and sxplain why i |5 an
approprate wnit to reund the attendance 1o,

T weuld teund Yk, 793 4o Yee e Yousonds -’_@m‘&
Yy geh- 50,000 . For a teuoSROgeC arTide ‘E-a;u; ﬁi
c:“i%ﬂmmﬂm S0,000  Loele oftendance 75 4. Aice

Ly s oced e Gctua
Cound Humbee v 35 prety (lese o tue Gchual
(i mioes -
5, A pEl alrplane hinlds sl 065, I Eﬂllllll"-\. ||r-,E.-|'\-\._ It s abasin T l‘-H'ﬂt;.llllllll. wii b ”Illi|IH bt wamen e

Yark Civy and Log Angebss, Round sach number 1o the largest place valud, Thén lind aboul how many
trips the plone can take between cities befare running ol of Fuel,

65 oco & 70,000
TUbo & J ool
—The gare Can Yake abour 1D 1603 Detueen Cihies
'G:,_J;::,.;g fuﬁ‘[‘ﬁﬁg it ok Fue'

{:_{::I'HMDN Lispean 100 L o i ssadersiaading foorma ed rrafth-dight nomber o sy ‘“?
] shem 1L.Ce
BRI i, engage™ i

E X1 e aer b i mserers, e ey




4 Grade Module 1 Lesson 11

ape deogrenn

Name
1. Solve the addition problems below using the standard algorithm
a 6 11 D 6 311
+ 268 + 1,268
i 6,314 e 8,314
<2493 $ 2,493
& 2098 h 34 £69EBE
+ 6,048 +t 1L 840
| 527 + 275 + 752
)
" COMMON | ‘m==! o e,
y ’ Awi 0 4 ’
{ (“\[ fper 1) wort o] g cddeye -
Date B ]
- ——

Date

¢ 6, 314
+ L2168
| 12,3768

. 'ﬁf.}e:;_x

. $44, 811
+ S 6
356445

K, 36,193 + 5,376 + 241,457

ard apydy the

engage™’

1.0.8




Ditections: Draw 3 tape diagram 10 represent each problem. Use numbers 10 solve, and write your answer
85 a statement.

2. InSeptember, Uberty Elementary School collected 32,537 cans for a fundraiser. In Octobet, they
collacted 207,492 cans. How many cans were collected during September and October?

3. A basebal SRadium soid some burgers. 2,806 were cheeseburgers, 1,679 burgers dida't have cheesa
How many burgers did they sell in ai?

4 On Saturday night, 23,748 people attended the concert. On Sunday, 7,570 more people attended the
concert than on Saturday. How many people attended the concert on Sunday?

l| ( ( )\‘\‘( )\ lewon i) we phay = adure wodey s3an e 10 Pty add et wiad

~ PUTLeTs L the Mande d sOdtion slgonthem and agply the ny
( { )RF e T 10 SO b ar ] gr RS e ns Lrig Lape Shagr e engage




4 Grade Module 1 Lesson 12

1

Lesson 12 Problem Set

Directions: [stimate and then solve each problem Model the problem with a tipe diagram. Exalan it your
SNEWer 15 reasonadle

1, Forthe bake sale, Connlo Dakad 1484 cookes. [sther baked 49 more cookies than Connie.

3. About how many cookgs ol Connie and Csther oake? Estimate by rounding each numbes 1o the
naargst ton before adding.

140
uq 14 Contie. and Esrher taked

Conme N % ¥+ 5 abcuy 330 Ceckies,

W
B T )
Extac| i 230

L Exacty how many cooxes did Conne ard Esther bake?

\I:: Conte and  E5ter taked %‘r\ﬂ 237 (cckies.

+ Y4

sl —

337

i3 your answer reasonadie? Comoare your estimate from (a] ta your answer from (). Wrte a
sentence to explaln your reasoning.

t\les. mj OnSWee s (eascnabe . Tn @) T estmaled
Yhe ansuee bo counding each number 4o Hhe Neoacesr ten
‘ot Fece aam‘\ﬁgﬁlj eshimate was 330 (eokes, When T added
e actual ameuats, My answee was 337 Coctes,
337 s verd clese Yo 330,

COMMQO) —— P A Pttty AR T OB M
" :?_‘:)Rir;w N mecled ath tase dog 3331 the resmmabre: - engageny 1.0.20
Male: 0 —ree -




NYE COMMON CORE MATIEMATICS CURRICUL LM Lesson 12 Problem Set

I, Raffic Uceots wore soid for o school fundraiser 10 parents, teaders, and students. 563 Hictsts were sold
10 teachess BBS more tickets were sold 10 students 1han to teachers. JO4 TICkeTs were soid to pareres,

2 About how many tickets ware sold 10 parents, teachers, 3nd STudents? Round each number to the

nearest hundred to find your ssumate Lo .* t b
<3I% Aot 3 ooo ke
T 31—~ ) (R e soid o parens,
Shudenss | — & %60 heackers, ond Shadends,
Qarenys [ 9cd =5 3000
0. Exactly how many tickets were sold 10 perents, t=schers and students?
BeD .
563 Sadiy 2,913 dukels e S fo Qacents, Teackers,

9% S,
. 409 and Sruden
g —

2313

© Assess the reasonablensss of your answer in (B). Use your astimate froen () 1o explai,

Ny ansuec for (b) ™ reasopable . My eshmated Yot
Was »,000, “The ackual Yokl was 2,913,
4,913 s close 4o 3,000,

3 From 2010 to 2011, the population of Quesns creased by 16 075 Brooklyn’s population incresssd by
11,270 more than the papuation increass of Quears

2 Estimate the total combined population Increase of Queens ard Brockiyn from 2010 to 2011,
|Round the addends to estimata.|

“The tcta! comined
6,075 \J/\“_'}\B_,_\ 8} \& gf)% W\a}ﬁmtmmoﬁ
¢ 16,000 Queemsand Sreclyn
"Jq TS Loom 201040 201

J wWad abour 44.0C0,

Qi Coppron;| SR S oL
| U e engage

m TO vl y et o 4
.t te i




NYE COMMON COAZ MATHEMATILS CUmRC I UM

Lesson 12 Problem Set

b Find the actual total combined populaton increase of Queens and Brookiyn from 2010 i 2011,
16,875

e “Tre achual total combined \oden incrense
J

oF Queens and Rcectlan From 2010 4o 2ol
e was 44,020. > %

44,020

£

Assess the reasonableness of your answer in [b). Use your estimate from [3) to eapian

My answer ™ rasonae . My eohimade fo-dhe dotal Combined
Soqulation tncrease was 44,000  The atdual Tohal wus
H4,020. H4,020 T close Yo H4,000.

4. During National Recycling Manth, Mr. Yardiey's class spont 2 wacks collectng empey €ang 10 recycle

-~
Number of Cars Collocted fir tre end o
‘1027 L‘l LCEM. (T]f

: :f- 1o Class
lo.;h | te
2 — 53, 443 Cans.

Week

A Dwreg Week 2, the cass collected 1,256 more cans thae they d during Week 1.

Find the total number of cans Mr, Yardley's class collected In 4 weeks
vaee! (10,327 | h2ét 0,827

—

wete2 | =

WwsL7

e 3| ooz | :
week y [, gl )

v ¢ 14286

2,083
(.wux. 25

12,092
10,52
+ 20,0\

53443
8 Rstess the reasonabenass of your answer in (3) by estimating the total number of cans collectad,

10227 & \\,cocO

2,093 2 \1,c00
\o, b2 \|,000

N\, o0
1, ce0
W\ CCO
+ 20,000

54,000

20,0\ X 20000

CORE

TOSOCC A 100 ShIgrare s A02 saams the
LRI R LR S E Y

i

" COMMON | =2 Savs vk

Duie:

() [

M2 WIS PCDATC SaTg I9E I T ah I«

TESSVMIerea o

M quoEr Lo (o) 1S
cenzonable. My estimake
wWas OM,000 and +he achual
oo\ wWos O3 UMD, Te
oAaa) arsuke 73 Close to
e eshtinate,
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4 Grade Module 1 Lesson 13

Name ~Jﬂ_C\f. Date

Jse the ssandard slgorthm Lo scive the Kllowirg subtroction prodiems,

{
a. 7,528 b 17.%28 FSIAS
3 5043
TR cALL e N 4,817
4023 -3 _
’ {,023 2.2 0%
o e
1. g;“,'- e, a ‘ f(? ¢ $.4 15
435 -470 -3 5032
3 e
4,190 ¢o30 2,523
\ 2u l
v !ll»sf-aﬁ h LAL 925 249925
=14530 2048141 S 2220
. 010 29 (1O i
3 L7, 94,22¢

Diracrions: Draw a 1dpe diag am 10 repressot &ac probéem, Use namnbies 1o soNe, 300 write you! ansnes &

o statement Check YOUr ansevess

2. What sumber must be ;;\wea to 15,875 10 resuk in & sum of 25 A347

25, -4
Y e 25584

] ] w5

P —— \._-——1,—%—"' —‘ 2 ch
275 ‘ )

{ ! > § oo © EAR S -
12,009 must be added 4o 19,873 o fesulT in a Jum
& 25,%-3'4.

b L2

| IR et mmn et anagage™ 1w

e




3. Artst Michelangelo was born on March 6, 1475, Author Mem Fox was born on March 6, 1946, How
many years after Michelangelo was born was Mem born?

'
2

4. During the month of March, 68,025 pounds of king crab were caught. I 15,614 pounds were caught in the
fwrst week of March, how many pounds were caught In the rest of the month?

5. lames bought a used car. After driving exactly 5,050 miles, the odometer read 118 064 miles. What was

the odometer reading when James bough!t the cars

R SMMON AR ssb e Aol o sca o ny
(_‘.)RL FEm e LD stee sy Dradsier s ving L ape gy etms engage
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4 Grade Module 1 Lesson 14

Name ot [ Date

1. Use the standard algorithm 10 soive the foblowing subtraction problems,

v

a. 2,440 b. 2,460 3 97,684
-1,370 -1,470 -49,700
] >
d 1.4460 o 124,306 f 97 . 684
=1.472 -31.117 4.705%
. N »

o ¢ B K :

£ 124,006 h. 97,684 174,080

121,117 -47,205 -31,117

Directions: Drow a tope diagram 10 represent eoch problem, Use numbers 10 soie, and Write your answer o9

< sremont. Chodk your answers,

2. There are 86,4900 seconds in one day, 11 Mr, Uegeld Is 31 work tor 28,800 seconds 3 day, how many seconds

a day Is he away from work?

Lewmen 14 U phar @ sfvw urthemiunding Yo Cecomepone to swrrsiier Lrits v
{ ().\“\“ )\ B vt Tuves wsing the aarsdar d wldts scrum daonhus, arcd agply the n
II L_‘__)":[_ g iten lo ,,.::: wovd perarra .r»-; lape 'ch:--n engage y 1.t
Uaw N
o G B GNP el Oy \




3. Anewspaper company delnered 240,900 newspapers before &6 am, on Sunday. There were a total of

$25,600 nawspapers 1o debver. How many maore newspapers needed to be delivered on Sunday?

4, Atheater holds a total of 2.013 chairs. 197 chairs are in the VIP section. How many chairs are not in the

VIP section?

5. Chudk’'s mom spent $19,155 on a new car. She had 530,064 in her bank account. How much money does

Chudk’s mom have after buying the car?

e plar e wliw untentandng 10 Gecorpose Yo urale Lt op o

“ COMMON o rorte

" Thee CTaNsland) S ey a01aw 2w 0. ] gy e n
CORE A S ey N engage y




4 Grade Module 1 Lesson 15

Name

-91,68¢
."

( 782.5%1
A4 702

e £
1.ee0,000
-552,.000
P'. -
g Jopp 68

-592.569

Lessen 15 Use pdiv o wilie Lnder

I' COMMORN

it pie thmes I sy plac e
)
L )"-l il apaty The dhpor ithin 10 soltve motd gr (e

ate

v rerprine B vl ke

aing the ctandard subtraction algos

1. Directions: Use the standard subtraction algorithm to solve the problems below

) £
1071 #¢8¢
-9 98¢
291.56})
_:’: L.‘;nl'
ARNN
L
Y, 400,000
562,500
%49
oy A
600,000
$92.569
e A

20g Lape Sagrars

engage"”’

1.E.




Direczions: Use tape dlagrams and e standard aigoctthm to solve the probiems below. (hedk your answers.

David s fiying from Hong Korg 1o Buenos Alres, The total fhight dstance i 11,472 miles. If the plane has
1. 795 mades left to travel, bow Far has it already traveded ?

3

Tank A hoids 678,500 gallons of water, Tank B holde 905 867 gallons of water. How much less water does
Tank A hold than Tank 87

3
1

0
Jr

Mark had 525081 in his bank account on Thursday. On Fnday, be added hus paycheck to the bank account

ad he then had $26 020 in the account. What was the amount of Mark’s paycheck?
4
\'

T Ty deconvgurie T vonaliy yeuts

M AL ' Mo gl e sidoms wnvieisian iy 3
ll (( {:“ 1')\ mruls phe Moy o envy phace waing the standerd subtraction sigor thm en a eny
CORI 373 3504 the algorithre 15 codus wced Brotismu utie g 2age Siagrarm g g

Doe Af )3
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4 Grade Module 1 Lesson 16

Name A Date

Directions: Estimate first and then solve each problem. Mode! the problem with & tape diagram. Explam if

your answer is reasonable

1. OnMonday, a farmer sold 25,196 pounds of potatoes. On Tuesday, he sold 15,023 pounds. On
Wednesday, he 50d some more potatoes, Inall, he sold 62 402 pounds of potatoes

a. About how many pounds of potatoes did the farmer sell an Wednesday? Estimate by rounding each

value 1o the nearest thowsand, and then compute

b. Fmnd the precise number of pounds of potatoes sald on Wednesday

€. 18 your precise answer reasonable? Compare your estimate from (a) to your answer from (b) Write a

sentence 1o explain your reasoning.

VAW Nwo-ng WA (Eotrevrn ung e el o et actam sl it

l| (,(.)‘\.1\!(-.'\ Lessan 16

CORE Memaddy 1w .5-...;.‘;:.",.,.. gt orvn arrd ervras The | Cdon ©ah heieyy engageny | €8
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J
<

3

A gas station had two pumps. Pump A dispensed 241,752 gallons. Pump B dispensed 113,916 mere

galons than Pump A

a.  About how many gallons dd both pumps dispense? Estimate by rounding each value to the nearast
hundred thousand and then compute

5. Exactly how many gakons &d bath pumps dispense ¢

¢ Assess the reasonablenass of your answer in (b). Use your estimate from [a) 10 expiain
c 't A ¢ | < A -t (4 "_:., ‘ ¢ o \4 FiTviineT e o
>"“,—"‘ Lt A “' L rodw | s < wallfr un 5 (\.’ LN Lt " ;H)‘ ol wat
Lxait pAAd wtav?s v Al ACAVAL aacuuee VE O devnasd AU e Aboulandl )
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Martin's car had 86,455 mies on it. Of that distance, Martin's wife drove 24 901 miles, and his son drove

7997 miles. Martin drove the rest

a.  About how many miles did Martin drive? Round each value to estimate
4 PR

b, Exactly how many miles did Martin drive ?
p

Assass the reasonableness of your answer in [b). Use your estimate from (8) 10 explain
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4 Aclass read 3,452 pages the first week and 4,090 mare pages in the second week than in the hest week
How many pages had they read by the end of the second week? s your answer reasonable? Explam how
you Know using estimation

A cargo plane weighed 500,000 pounds Aftar the first load was taken off, the airplane weighed 437,981
pounds. Then 16,478 mare pounds were taken off. What was the total number of pounds of cargo

remaoved from the plane? Is your answer reasonable? Explain
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4 Grade Module 1 Lesson 17

Name Date

Directions: Draw n tape e am 1O regr d Lot eaCh probieers, Lse rurminers Lo sofhve, and WIS YOUT M5 W

ds & statement, )
1 Sean's school raised $32.587. Lestie's school raised 518,749, How much more money did Sean’s school

rase? .
) ’

?
peopke were in the bleachers than standing ¢n the strest
7
.~y s ’ ”
ke |
i
! re L .
nore Ol the male weeh than the ‘emak! ;
W
Y o ~
D4k / '
)
- J
— Y 20\
o f
b ¢ J — \l ;
1
ACORDN Wire was Z4a0n slung Al ) Meters wi | vusdouhie N Ihof URE,
= 0w mut Qngs i erw V! steel wire 31 tirst?
£ '4: M
~ ——
_— !
| —_—
0y ' 3
s o

ll : E_;g:_."“ N ;::m” . ':' !_. e e wind prodlems rod ched with Lape dag o engageny

v - ——r .~y




4 Grade Module 1 Lesson 18

Name ‘;‘(’*i K Date

Directions: Drawa tape diagram to representeach problem. Use numbersto solve, and write your answer as
a statement.

1.

© 200

In one year the factory used 11,650 meterd of cotton, 4,950 fewer meters of silk than cotton, and 3,500
fewer meters of wool than silk. How many meters in all were used of the three fabrics?
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WARE used

The shop soid 12,789 chocolate and 9,324 cookie dough cones. It soid 1,078 more peanut butter cones
than cookie dough cones and 999 mare vanilla cones than chocolate cones. What was the total number
of ice cream cones sold?
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In the first week of June, a restaurant sold 10,345 omelets. In the second weelk, 1,006 fewer
omelets were sold than In the first week. In the third week, 2 thousand more omelets were sold
than in the first week. Inthe fourth week, 2 thoutand fewar omelets were sold than in the first
week. How manv omelets were sold in all in June? .
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4* Grade Module 1 Lesson 19

NYS COMMON CORE MATHEMATICS CURRICULUM

Jack.

Name

L

Directions: Usingthe diagrams below, create your own word problem. Solve for the value of the variable

Date

There weve 7,104 people
who attended o football game.
H429< wevre wmen, 982 poeve
childven, and Hie vest wer€

lomie . H'MU Mmany/ wowmen

attended 4, Lothall qpme?
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NYS COMIMON CORE MATHEMATICS CURRICULUM

72

wkaté A Mlﬁ\s 5,200 lﬂf%rws.
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Draw a tape diagram to model the following equation. Craate a word problem. Solve for the value of the

variable.

4, 26,854 =17,729+3,731+A
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